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FORMULA:
(a +b)* = a* + 2ab + b*

EXAMPLE:
Calculate (z + 5)

SOLUTION:
(x+5)°=2*+2-2-5+5° =2+ 102 + 25




FORMULA:
(a +b)° = a’ + 3a*b + 3ab® + b’

EXAMPLE:
Calculate (z + 2)°

SOLUTION:
(x+2P=23+3-2°-24+3-2-224+2% =
— 23 +3-2-2243-4-2+8=2x+6x°+ 122 +38




FORMULA:
(a — b)? = a* — 2ab + b*

EXAMPLE:

Calculate (z — 5)*

SOLUTION:

(=5 =2*—-2-2-5+5°=2°— 100+ 25




FORMULA:
(a —b)? = a® — 3a*b + 3ab® — b’

EXAMPLE:
Calculate (z — 2)?

SOLUTION:
(2 —2P=a-3-22-2+3.2-22 -2 =
=2’ —3-2-2"°43-4-x —8=u— 62"+ 12z — 8




FORMULA:
a’ —b* = (a+b)(a— D)

EXAMPLE:

Factor 22 — 9

SOLUTION:
2?—9=2>-3"=(z+3)(z - 3)




FORMULA:
a’ +0° = (a+b)(a* — ab + b?)




FORMULA:
a’ — b’ = (a — b)(a* + ab + b?)




FORMULA:
fz=a+W

then |z| = va? + b?




FORMULA:
if 21 = a + bi

and zo = c+ dt

then 21 + 2o =a+c+ b + di



FORMULA:
if 21 = a + bi

and zo = c+ dt

then 2y — 2y =a—c+br — di



FORMULA:

P2 = —1



FORMULA:
fz=a+W

then z =a — b2



FORMULA:
In(a-b)=1In a+1In b




FORMULA:

ln%zln a—1In b




FORMULA:

na’ =blna




FORMULA:

]
log, b = Inb
Ina




FORMULA:
b+ b

a’"“=a’-a‘



FORMULA:

b
b—c a

o



FORMULA:

(ab)c — ab-c



FORMULA:




FORMULA:
a0 = |a] - [b]




FORMULA:

‘9‘_M
‘) -

6]



FORMULA:
it f(—) = f(x) Va

then f is even.




FORMULA:

i f(—z) = —f(x) Va
then f 1s odd.




FORMULA:
Va-vb=+ab




FORMULA:

=0

EXAMPLE:
Calculate &

SOLUTION:

8 =0



FORMULA:

(") =n-a""

1

EXAMPLE:

Calculate (%)

SOLUTION:

(3;3)! — 3. $3—1 — 33:2




FORMULA:
c- f@)] =c- fiz)

EXAMPLE:
Calculate (723

SOLUTION:
(723) =7 (%) =7-3 -2 = 2122




FORMULA:
() +g(@)) = fix) + g'(x)

EXAMPLE:
Calculate (z° + 22)

SOLUTION:

(@ + a2 = (@) + (@) =5- 2" 4222 =

— 5t + 22! = 5t + 2



FORMULA:
() = glz)] = f(z) - ¢'(x)

EXAMPLE:

Calculate (2° — z?)

SOLUTION:

(3;5 _ :CQ)J _ (335)! o (5132)’ —5.

— 5t — 2xl =5t —



FORMULA:

(sinx) = cosx




FORMULA:

(cosx) = —sinz




FORMULA:
1

cos? &

(tanx)" =




FORMULA:

(ea:)r — ot



FORMULA:

(c") =c"-Inc




FORMULA:

1
Inz) = —
(nz) = -



FORMULA:

1

arcsin x)’ =
( ) —




FORMULA:

1

arctan ) =
( ) 2+ 1




FORMULA:

[ rwntr= 2

n—+1



FORMULA:

/c-f(a:)dx :c-/f(g:)dx




FORMULA:
/ f(2) + g(o)]da = / F(o)de + / g(z)da




FORMULA:
5@ - gtade = [ s@its — [ gl




FORMULA:
/sinm dr = —cosx




FORMULA:
/COSI dr =sinx




FORMULA:

1
/ ] dx = arctan x
T




FORMULA:

/e‘”dxze‘”




FORMULA:

T
C
¢t dr =
Inc




FORMULA:

1
/—da::hlm|
T




FORMULA:

1
/ —— dr = —cotx
sin” x




FORMULA:

1
/ 5 dr = tan x
COS? X




FORMULA:
p =4s

where:
p = the perimeter of the square

s = the side

EXAMPLE:

Find the perimeter of the square,

knowing that the side is 3 cm.

SOLUTION:
p=4s=4-3 cm =12 cm




FORMULA:
d=5s-2

where:

d = the diagonal of the square

s = the side

EXAMPLE:

Find the diagonal of the square,

knowing that the side is 3 cm.

SOLUTION:
d=5s-2
=3 cm -2
= 3\/§ cm




FORMULA:
A= g?

where:

A = the area of the square

s = the side

EXAMPLE:

Find the area of the square,

knowing that the side is 3 cm.

SOLUTION:
A= g?

= (3 cm)?

— 3% em

— 9 em?




FORMULA:
P=2L+2W

where:

P = the perimeter of the rectangle
L. = the length
W = the width

EXAMPLE:

Find the perimeter of the rectangle,

knowing that the length is 7 cm
and the width is 3 cm.

SOLUTION:
P=2L+2W

=2-7Tem+2-3cm

— 14 em+6cm

= 20 cm




FORMULA:
D=+I12+W?2

where:

D = the diagonal of the rectangle
L. = the length
W = the width

EXAMPLE:
Find the diagonal of the rectangle,

knowing that the length is 7 cm
and the width is 3 cm.

SOLUTION:
D=L+ W?

= /(7 cm)? + (3 cm)?
— V49 em? + 9 e¢m?

— /58 cm?

e em




FORMULA:
A=L-W

where:

A = the area of the rectangle
L. = the length
W = the width




FORMULA:
P = 3s

where:

P = the perimeter of the equilateral triangle

s = the side




FORMULA:
s?2.4/3
4

A —

where:
A = the area of the equilateral triangle

s = the side




FORMULA:
P=a+b+c

where:

P = the perimeter of the scalene triangle

a, b and ¢ = the sides




FORMULA:

A= /p(p—a)lp—0)(p—c)
a+b+c
2

p =

where:

A = the area of the scalene triangle
= the semi-perimeter

a, b and ¢ = the sides




FORMULA:
C =2rR

where:

C = the circumference of the circle

R = the radius



FORMULA:
D =2R

where:

D = the diameter of the circle

R = the radius



FORMULA:
A=7nR?

where:

A = the area of the circle

R = the radius



FORMULA:

d= sv3 =

where:

d = the diagonal of the cube

™

s = the side




FORMULA:
Alat = 482

where:

A+ = the lateral area of the cube

s = the side




FORMULA:
Atot = 68 2

where:

A;r = the total area of the cube

s = the side




FORMULA:
V=5

where:

V' = the volume of the cube

s = the side




FORMULA:
Ay =2rRH
where:

R = the radius
H = the height




FORMULA:

Ay = 2mRH + 21 R?
where:

R = the radius

H = the height




FORMULA:
V =nmR*H

where:

V = the volume of the right circular cylinder
R = the radius
H = the height




FORMULA:

A = TRG

where:

R = the radius

G = the slant height




FORMULA:
Aot = TRG + TR*

where:

Asor = the total area of the right circular cone
R = the radius
G = the slant height



FORMULA:
TR*H
3

V =

where:

V = the volume of the right circular cone
R = the radius

H = the height




FORMULA:
A = AT R?

where:

A = the area of the sphere

R = the radius



FORMULA:
4 R3
3

V =

where:

V = the volume of the sphere

R = the radius



FORMULA:
2 2

sin“ a + cos® a =1

EXAMPLE:
Calculate
(sin 79°)* + (cos 79°)?

SOLUTION:

(sin 79°)* + (cos 79°)?
— sin® 79° + cos? 79°
=1




FORMULA:

sin (a+b) =sin a-cos b+ cos a-sin b

EXAMPLE:

Calculate sin 75°

SOLUTION:
sin 75°
= sin (45° 4 30°)

— sin 45° - cos 30° + cos 45° - sin 30°

V2 VB V2
T2 T
V6 V2
~ 1
_V6+V2

4



FORMULA:

COS (a,—l—b):cos a-cos b—sin a-sin b

EXAMPLE:

Calculate cos 75°

SOLUTION:
cos 79°
= cos (45° + 30°)

= cos 45° - cos 30° — sin 45° - sin 30°

VI VB VR
2 2 2 2
VBV
4 4
V62

4



FORMULA:

sin (a—b)zsin a-cos b—cos a-sin b

EXAMPLE:

Calculate sin 15°

SOLUTION:
sin 15°
= sin (45° — 30°)

= sin 45° - cos 30° — cos 45° - sin 30°

VEVE VB
2 2 2 2
VBV
4 4
VE-2

4



FORMULA:

cos (@ —b) =cos a-cos b+sin a-sin b

EXAMPLE:

Calculate cos 15°

SOLUTION:
cos 15°
= cos (45° — 30°)

— cos 45° - cos 30° + sin 45° - sin 30°

V2 VB V2
T2 T
V6 V2
~ 1
_V6+V2

4



FORMULA:

tana + tan b
]l —tana-tanb

tan (a+b) =



FORMULA:

tana — tan b
1 +tana - tanb

tan (a —b) =



FORMULA:

Sin 2a =2 -8In a - COS a




FORMULA:

cos 2a = 2 - CcoS

2 a0—1



FORMULA:

2-tan a

tan 2a = 5
1 —tan® a



FORMULA:

sin (—a) = —sin a




FORMULA:

cos (—a) =cos a




FORMULA:

tan (—a) = —tan a




FORMULA:
3

sin 3a =3 :sin a —4 -s1n° a



FORMULA:

cos 3a = 4 - cos

3 a—3-cos a



FORMULA:

. . o a-+b a—2b
sin @ +sin b=2-sin - COS 5




FORMULA:

a+b a—2b
. COS ;

cos a4+ cos b= 2-cos



FORMULA:

sin (a + b)
cos a-cos b

tan a + tan b =



FORMULA:

a—>b Coqa—kb
S 2

sin @ —sin b =2 -sin



FORMULA:

S a+b | a—b0
cosS @ — cosS b= —2-sin . sin 5




FORMULA:

. 9@ 1 —cos a
Sin” — =
2 )




FORMULA:

5 1+ cos a
COS* — =
2 2




FORMULA:

5 1 —cos a
tan® — =
2 14+ cos a




FORMULA:

sin (90° — a) = cos a




FORMULA:

cos (90° —a) =sin a




To buy the eBook with examples,

please click here.


http://LUNLUN.COM/L272

